Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - 111 « EXAMINATION — SUMMER 16

Subject Code: 3335002 Date: 09.05 .2016
Subject Name: Building Construction
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 (a) Define safe bearing capacity of soil. Describe in detail the method of 07
improving the bearing capacity of soil.
(b)  Define the following terms: i) ridge ii) valley iii) principal rafter iv) purlin v) 07
hip vi) eaves board vii) king post

Q.2 (a) State and explain various types of piles according to its function. 07
(b) Compare brick masonry with stone masonry. 07

OR
(b) State the general principles to be followed in construction of brick masonry. 07
Q.3 (&) Enlist the type of stone masonry. Explain ashler stone masonry. 07
(b) List different types of joint used in stone masonry and explain any four of 07

them with sketches.
OR
Q.3 (a) Define the following with neat sketch: i) stretcher ii) queen closer iii) bat iv) 07
frog v) cornice vi) quoins vii) hearting
(b) Give comparison between English bond and Flemish bond. 07

Q.4 (a) State the function of lintel. Explain the R.C.C lintel with sketch. 07
(b) Define the following term with sketch: i) span ii) rise iii) key iv) haunch v) 07
soffit vi) springing line vii) skewback

OR
Q.4 (a) Discuss the factors affecting the location and size of door and window. 07
(b) Define the following terms: i) lock rail ii) style iii) hold fast iv) sash v) sill 07
vi) rebate vii) transom.
Q.5 (a) Give requirement of good formwork. 07

(b) What is the role of reinforcement in R.C.C ? Explain the causes of failure of 07
R.C.C structure.

OR
Q.5 (a) Differentiate between i) dog-legged and open newel stair ii) quarter turn and 07
bifurcated stair
(b) Write the advantages of steel roof truss over timber sloping roof. 07
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